b 7
Example PROB. (7

T/hﬂ =200 LB

EdD V) REACTin
Al &

FRee-BDY Diy GRAN
tl J/P_ o [s-l’ -v‘

~ e
Tap ‘*”y )

by

}"X e — X

-

P YoRees

N

PP S S L/

(R PORTION VecTokS

ReolsE

ﬁb = (7 o 240" ) ¢+ (74 ‘1%0("7\/" N

ﬁh - ('35’72 t (—éﬂé? f (X



“ZFK’

| ] R
~ (48 ke =0 ; b = 200 LB 7 L%
2 by =0

1 F‘( “P =

N

ll ‘:(Y = YO

7 M, =0

p X P & \Qh X (/rg O
"/ZRMM

iL\ = Y

M, = f s ¢ 0

I 0 -P o

ifT“‘ Lod & - Lody +[CisX-p)] £ 1p o

e
\

W o=(s p)z 0 - B

. 7 /
Mo = Vap < Tag = | =35 -40¢
~ 200 0

{7

O Q T=x




Z,

”E:[ﬂ; ?[07\; tL(5500)- (‘é-%%%@)jg Wb
e Lz0)F wew

(5PYE 4 ()t =0

[ Pet0s B o Pefwe)] s

[ 1/ S S E = (90.5) ¢B



